Addition Horizontale de Décimaux (C)

Calculez chaque somme.

62,2 + 7,70 = 8,4+ 5,65 =
96,86 + 8,2 = TA+22=
18,4 +2,14 = 724429 =
81,8 + 41,57 = 56,7 + 4,82 =
2,86 + 1,08 = 87,3+ 74 =
60,8 + 2,4 = 23,2 +4,1 =
68,4+ 19,8 = 29,61 + 1,91 =
60,18 + 9,1 = 37,56 4 23,8 =
26,96 + 8,2 = 20,45 + 9,3 =
7.6 +5,6= 92,04 4 6,47 =
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Addition Horizontale de Décimaux (C) Réponses

62,2 + 7,70 = 69,9

96,86 + 8,2 = 105,06

18,4 4+ 2,14 = 20,54

81,8 + 41,57 = 123,37

2,86 + 1,98 = 4,84

60,8 + 2,4 = 63,2

68,4 + 19,8 = 88,2

60,18 + 9,1 = 69,28

26,96 + 8,2 = 35,16

76+5,6=132

Calculez chaque somme.

8,4+ 5,65 = 14,05

74+22=96

724429 =10,14

56,7 + 4,82 = 61,52

87,3+ 7,4 =947

232+ 4,1 =27.3

29,61 + 1,91 = 31,52

37,56 + 23,8 = 61,36

20,45 + 9,3 = 29.75

92,04 + 6,47 = 98,51
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